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—. Assume Lhat the demand curve for garlic atl time { is given by Qi=90-3p, and
that supply in period t is given by Q=6042P.1., where Pcis the price at
time t, Puiis the price in period (-f and is expected to prevail in period

. Find the general solution of price for the cobwel model. (7%)

ECET D ¢ % 2 X (responsibil ity cenler)a¥, P XA A
LA EEE T R L'A—-i'&5]sz_é_(manufacluring)#vﬁﬁ1;
(distribution) # PIAH, & TAAG L2 & (R RNY LY R L) 38
(intermediate good) » BBUMNEATMAS . LR ST Y SV 1YY s (final
good) i X & 4y - UR RS TR ¥ PoMET, 88 lﬁv‘fi}f‘-él‘ﬂﬂifﬂﬁﬁm ° 1L
WL ALKt g thl&ik;”r::’f}u-’?‘vl?%(perfectly competitive market)
S PN PRIGR)E 2 « 14k marginal cost of manufacturing(mcm) «
marginal cost of distribution(med) - GETSFSN HERAZ - A&
8P4 & & (output) % F 3, 108 48 0 %) 2 0k 3 (revenue) it & 49 Kbz P
Rl S8, u B &g a UE TS PNTE PRI (8%)

=. If the production function of a firm is described by Q=K"L®, where o, 0.
The rental rates of K and L are v and o, respectively,
(i) Show that cost optimization requires

(ii) If atp=1, show that total cost js proportional to Q.
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(i, ii & 5%, 3t 10%)

WA X i Samuelson (akii-ﬁuiil!i%(mul tipl ier-accelerator
interaction) « (10%)

B MIEL1(E= 3t 15%)

a.
b.

c.
d.
e,

Phillips curve
stagflation
devaluation

net foreign investment
rational expectalions
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T WHBERUITH T EREM, (price discrimination)Z R A -
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S 7R (3%) -
4 B —WAEHPTREEZ T LR HA P=100-2X - B A B
=50+40X=50+40(X,+X,) + BEBNANT TIFE LR B A
Pi=80-2.5X, & P;=200-10X, (Where X=X+Xj) *
WX and X, R BB TIH6H & L84 (4%)
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T KRB LRABENSF RS E 2 80-20 Brw, 3 ot
Lorenz curve. 3t Gini coefficient Z AL BT 7 (4%)
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+ ~ (For the 1S-LM model) Given C=102+ 0.7Y, I=150-100i » M=300,
M=0.25Y, and M;=124-200i. Find (a) the equilibrium leve] of
income and the equilibrium rate of interest and (b) the level of C, I,
M,, M, when the economy is in the equilibrium, (M, is the supply of
money. M, is the transaction precautionary demand for money. M, is
the speculative demand for money.) (6%)

+— ~ Givena three-sector income determination model in which
Y=C+Io+Go Yd‘-' Y-T C=Co+b Yd T=To+tY
Co,lo,Go,To>0 0<b,t<l
Please calculate the tax rate multiplier. (5%)

Tt Xz RITAT R 248 ) 3 o F - 31 Net Economic
Welfare (NEW) {4 - GC%) (%457 +14 )

o 801
i 783

BROMYH o 3 th 768

R % 237

¥ 20

ERém 37

4k Bl 349

FRRE ' 29 :
BBy % th 231

ALTZ g8 295

B AKX A Lm() 574

REALER 1L 335 -4

= » Please explain the meaning of “paradox of thrif” (854 84 F &)
by using the formulation. (5%)




